More battleships

This task is about reading grid references.
T) is playing a game of Battleships with his friend. He has set up his ships like this.
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a) TJ's friend fires a shot at B2. Select what gets hit.
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J It's a miss!

b) TJ's friend fires a shot at D3. Select what gets hit.
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J It's a miss!




c) TJ's friend fires a shot at H8. Select what gets hit.
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O It's a miss!

d) TJ's friend fires a shot at E5. Select what gets hit.
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O It's a miss!

e) TJ's friend wants to hit the battleship.
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Name one of the co-ordinates that would hit his battleship
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